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If not specified otherwise, fill in the blanks with integers (p055|bly () or negative). A fraction should be reduced (for example is accepted but

not = ) and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example

—1;
— is accepted but— is not). log = log, x, not log, .

\'

Complete the formulae. ¢ ()s —.—

@ x [ L

Question 2

Not answered

Marked out of 10

If not specified otherwise, fill in the blanks with integers (possibly () or negative). A fraction should be reduced (for example is accepted but

; (
not %), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
D

1

—- is accepted but% is not). log = = log,

Solve the following inequality. .1" +6x+5>0.
The solutlon isT < . < 1

Al Ix . \x

Question 3
Not answered

Marked out of 10

x, not log .

If not specified otherwise, fill in the blanks with integers (possibly () or negative). A fraction should be reduced (for example, % is accepted but

. a
not %), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
D

Sk is accepted but L is not). log = = log, x, not logy .

Evaluate the following. log; 9 — logg

@ [
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Question 4
Not answered

Marked out of 10

If not specified otherwise, fill in the blanks with integers (possmly () or negative). A fraction should be reduced (for example is accepted but
not 2), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example

=k is accepted but not). log x = log, x, not l()gm T

Find the value

1
_7

sat|sfy|ng )7 = e°.
la]: 7)( ‘7‘)(

Question 5
Not answered

Marked out of 10

If not specified otherwise, fill in the blanks with integers (possmly () or negative). A fraction should be reduced (for example is accepted but

not = ) and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
D

=L is accepted but L is not). log = = log, x, not log, .

Flnd all values p — . (. < .) satisfying (_1~~ !;)% =

2di7 05/07/25, 04:03
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Question 6
Not answered

Marked out of 10

Choose the graph of f(z) = x + 1.

A
B
C
D

The correct answer is: A

2:5

-1:5
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Question 7
Not answered

Marked out of 10

Choose the graph of f(z) = V.
A

B
C
D

The correct answer is: C

-18 -16 -14 -12 - -08 -06 -04 -02 O 1.2 14 16 18 2 22 24

-0:2
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Question 8

Not answered

Marked out of 10

Choose the graph of f(z) = e~ ".

A
B
C
D

The correct answer is: B

-7 -6 5 -4
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Question 9
Not answered

Marked out of 10

Choose the graph of f(z) = sin z.

A
B
C
D

The correct answer is: A

-4 -2 1 1

-1

-2

-3

-4
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Question 10
Not answered

Marked out of 10

Choose the graph of f(z) = log .

A
B
C
D

The correct answer is: D
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